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1. Constructive Advertising is for 

a. Creating demand for new products 
b. To state improvements in the products 
c. To impress the superiority of the products 
d. To stress the comparative features of two or more products 
Mf;fg;g+h;t tpsk;guk; vd;gJ 
a. Gjpa nghUl;fSf;fhd Njitia cUthf;FtJ 
b. nghUl;fs; vt;thW Nkk;gLj;jg;gl;Ls;sd vd;gijj; njhptpg;gJ 
c. nghUl;fspd; Nkd;ikia kdjpy; gjpT nra;tJ 
d. ,uz;L my;yJ ,uz;Lf;Fk; Nkw;gl;l nghUl;fspd; jd;ikia xg;gpl;Lr; 
nrhy;;;tJ 
 

2. The words to convey the advertising theme is called 
a. Advertisement copy  b. Advertisement layout 
c. Advertisement media  d. Advertisement budget 
tpsk;guj;jpd; ikaf;fUj;ij tpsf;Ffpd;w thrfk; ,t;thW 
miof;fg;gLfpwJ 
a. tpsk;guefy;    b. tpsk;gufl;likg;G 
c. tpsk;guClfk;   d. tpsk;gu nryTj;jpl;lk; 
 

3. An advertising which induce consumers to buy the advertised product 
through exaggerated claims 
a. Selective advertising  b. Constructive advertising 
c. Comparative  advertising  d. Destructive advertising 
tpsk;gug;gLj;jg;gLk; nghUis kpifg;gLj;jpr; nrhy;yp Efh;Nthiu thq;fr; 
nra;Ak; tpsk;guk; 
a. Njh;T epiy tpsk;guk;  b. Mf;fg;g+Ht tpsk;guk; 
c. xg;g{l;L tpsk;guk;   d. mopg;G epiy tpsk;guk; 
 

4. Advertisement recognition test is 
a. Pre-test     b. Post-test 



 

 

c. Continuous-test   d. Final-test 
tpsk;gu mq;fPfhu Nrhjid vd;gJ 
a. Kd;dpiy Nrhjid  b. gpd;epiy Nrhjid 
c. njhlh;r;rp Nrhjid   d. ,Wjpepiy Nrhjid 
 

5. Consumer Disputes Redressal Agencies do not function at 
a. State level    b. National level 
c. District level    d. International level 
Efh;Nthh; Fiw j{h;g;G ikaq;fs; nray;glhjJ 
a. khepy mstpy;   b. Njr{a mstpy; 
c. khtl;l mstpy   d. cyfshtpa mstpy; 
 

6. Personal factors influencing buyer behavior include 
a. Social class    b. Attitudes and beliefs 
c. Personality and self concept d. Family 
thq;Fgth; eltbf;ifia ghjpf;Fk; jdpkdpj fhuzpfis Nrh;e;jJ 
a. r%f tFg;G    b. kdg;ghq;F kw;Wk; ek;gpf;if 
c. MSik kw;Wk; Ra fUj;J d. FLk;gk; 
 

7. Elimination of middlemen is practically 
a. Impossible    b. Possible 
c. Reduce the channel cost  d. Reduce the channel function 
,ilj;jufh;fspd; tpyf;F eilKiwapy; 
a. rhj;jpak; ,y;iy   b. rhj;jpak; 
c. top nryit Fiwf;Fk;  d. top nraiy Fiwf;Fk; 
 

8. Modern marketing starts and ends with 
a. Distributor    b. Consumer 
c. Wholesaler    d. Retailer 
etPd re;ijapd; Muk;gKk;> KbTk; 
a. tpepNahfpg;gth;   b. Efh;Nthh; 
c. nkhj;j tpahghhp   d. rpy;yiw tpahghhp 
 

9. Functional approach to the study of marketing was designed by 
a.Stanton     b. A.H. Shaw and L.D.H. Weld 
c. J.F. Pyle    d. Duddy and Revzan 
re;ijapLif gbg;gpd; nray;ghL Nehf;fj;ij tbtikj;jth; 
a. ];lhd;ld;    b. V.`r;.~h kw;Wk; vy;.b.`r;.nty;l; 
c. N[.vg;.igy;    d. ll;b kw;Wk; Nut;]hd; 



 

 

 
10.  Market segment is 

a. Market oriented philosophy b. Competitors oriented philosophy 
c. Sales oriented philosophy d. Customers oriented philosophy 
re;ij gFg;G vd;gJ 
a. re;ij xd;wpd; gf;f jj;Jttpay; 
b. Nghl;bahsh; xd;wpd; gf;f jj;Jttpay; 
c. tpw;gid xd;wpd; gf;f jj;Jttpay; 
d. thbf;ifahsh; xd;wpd; gf;f jj;Jttpay; 
 

11.  P/V ration is 60% and the marginal cost of the product is Rs. 50. What 
will be the selling price? 
a. Rs. 75   b. Rs. 100  c. Rs. 125  d. Rs.150 
,yhg el;l tpfpjk; 60% filepiy nryT me;jg; nghUSf;F Rs. 50. 
nghUspd; tpw;gid tpiy vd;d? 
a. Rs. 75   b. Rs. 100  c. Rs. 125  d. Rs.150 
 

12. Under which type of buying, purchase are made strictly on the basis of 
current needs? 
a. Forward buying    b. Scattered buying 
c. Open market buying   d. Hand to mouth buying 
fPo;fz;l nfhs;Kjy; tiffspy; md;whlj; Njitf;F Vw;wgb nfhs;Kjy; 
nra;tJ vJ? 
a. vjph;ghh;g;Gf; nfhs;Kjy;   b. gutyhd nfhs;Kjy; 
c. ntspr;re;ijf; nfhs;Kjy;  d. rpf;fdf; nfhs;Kjy; 
  

13.  Project cost Rs. 1,40,000.  Economic life is 10 years and annual cash inflow 
Rs. 20,000.  Post-pay back period is 
a. 3 years   b. 4.5 years  c. 4.4 years  d. 5 years  
jpl;lkjpg;G Rs.1>40>000 nghUshjhu tho;T fhyk; 10 tUlq;fs; kw;Wk; 
Mz;L nuhf;f cs;tuT Rs.20>000. vdpy; kPl;G fhyj;jpw;Fg; gpe;ija fhyk; 
vt;tsT? 
a. 3 Mz;Lfs;     b. 4.5 Mz;Lfs;  
c. 4.4 Mz;Lfs;     d. 5 Mz;Lfs; 
 

14.  Angle of incidence is 
a. Angle between sales and fixed cost lines 
b. Angle between sales and variable cost line 
c. Angle between sales and total cost line 



 

 

d. None of the above 
epfo;T Nfhzk; vd;gJ 
a. tpw;gid NfhL kw;Wk; epiyr;nryT Nfhl;bw;F ,ilg;gl;l Nfhzk; 
b. tpw;gid NfhL kw;Wk; khWk; nryT Nfhl;bw;F ,ilg;gl;l Nfhzk; 
c. tpw;gidNfhL kw;Wk; nkhj;j nryT Nfhl;bw;F ,ilg;gl;l Nfhzk; 
d. ,tw;wpy; vJTk; ,y;iy 
 

15.  Break Even Point can be calculated by using the formula 
  a. Fixed cost/variable cost   b. Fixed cost/P/V ratio 

  c. 100
Contribution

Sales
     d. Contribution/P/V ratio 

,yhg-el;l kw;w Gs;spia fzf;fplgad;gLk; #j;jpuk; 
a. epiyr;nryT/khWk; nryT  b. epiyr;nryT/gp.tp.tpfpjk; 

c. 100
gq; fspg; G

tpw; gid
    d. gq;fspg;G/gp.tp.tpfpjk; 

 
16. Debtors Turnover Ration indicates the relationship between 

a. Cash sales and accounts receivable 
b. Credit sales and accounts receivable 
c. Accounts receivable and accounts payable 
d. Cash purchases and accounts receivable 
fldhspfs; Row;rp tpfpjk; vtw;wpd; njhlh;igf; Fwpg;gpLfpwJ 
a. nuhf;f tpw;gid kw;Wk; ngWjw;Fhpa fzf;Ffs; 
b. fld; tpw;gid kw;Wk; ngWjw;Fhpa fzf;Ffs; 
c. ngWjw;Fhpa fzf;Ffs; kw;Wk; nrYj;Jjw;Fhpa fzf;Ffs; 
d. nuhf;f nfhs;Kjy; kw;Wk; ngWjw;Fhpa fzf;Ffs; 
 

17.  Cash flow statement 
a. Starts with opening balance of cash 
b. Ends with closing balance of cash 
c. A and B are correct 
d. Is useful for long term financial analysis 
nuhf;f Xl;l mwpf;if 
a. nuhf;fj;jpd; Muk;g ,Ug;NghL njhlq;FfpwJ 
b. nuhf;fj;jpd; ,Wjp ,Ug;NghL KbtilfpwJ 
c. A kw;Wk; B rhpahdJ 
d. ePz;lfhy epjp Ma;Tf;Fg; gad;gLfpwJ 
 

18.  Decrease is working capital is due to 



 

 

a. Increase in current assets 
b. Decrease in current liabilities 
c. Increase in current liabilities 
d. Increase in fixed assets 
elg;G KjyPL Fiwgjw;fhd fhuzk; 
a. elg;G nrhj;Jfs; mjpfkhFk; nghOJ 
b. elg;G nghWg;Gfs; FiwAk; nghOJ 
c. elg;G nghWg;Gfs; mjpfkhFk; nghOJ 
d. epiyahd nrhj;Jf;fs; mjpfkhFk; nghOJ 
 

19.  Financial statements are 
a. Anticipated facts    b. Recorded facts 
c. Estimates of facts    d. None of these 
epjpepiy mwpf;iffs; vd;gJ 
a. vjph;g;ghh;f;fg;gl;l cz;ikfs;  b. gjpT nra;ag;gl;l cz;ikfs; 
c. vjph;ghh;f;fg;gLfpd;w cz;ikfs; d. ,itahTk; ,y;iy 
 

20.  Margin of safety may be improved by 
a. Increasing sales volume   b. Lowering variable cost 
c. Lowering fixed cost   d. All of the above 
ghJfhg;G tpspk;G vt;thW Nkk;gLj;j KbAk; 
a. tpw;gid njhFg;ig cah;j;Jjy; b. khwf;$ba nryit Fiwj;jy; 
c. epiyahd nryit Fiwj;jy;  d. Nkw;$hpa midj;Jk; 
 

21.  Which of the following assistances provided by SIPCOT 
a. Term loans     b. Seed capital 
c. Underwriting the capital issues d. All of these 
vk; khjphpahd epjpAjtp SIPCOT toq;fp tUfpwJ? 
a. fhytiuaiw fld;   b. tpij %yjd mspg;G 
c. xg;GWjp %yjd toq;Fif  d. ,it midj;Jk; 
 

22.  A small scale industrial units is considered sick if the following 
conditions are satisfied 
I. Any of the borrowal account of the unit remains substandard for more 
than 6 months 
II. When there is erosion in the net worth due to accumulated losses to the 
extent of 50% of its net worth during the previous accounting year 



 

 

III. When the unit has been in commercial production for at least 2 year of 
the statements 
a. I and II   b. II and III  c. I and III  d. All of these 
rpWnjhopy; epWtdk; nehbe;J Nghtjw;fhd fhuzpfs;: 
I. 6 khjq;fSf;F Nkyhf jpUg;gg;glhj fldPe;Njhh; fzf;F 
II. njhlh; el;lj;jhy; 50% epfu kjpg;G rhpT Ke;ija fzf;F tUlj;jpy; 
III. epWtdk; tzpf nghUshf;fj;jpy; Fiwe;j gl;rk; 2 Mz;Lfs; 
,Ug;gpd; 
a. I kw;Wk; II     b. II kw;Wk; III 
c. I kw;Wk; III     d. ,it midj;Jk; 
 

23.  District Industries Centre‟s Programme was initiated with the objective 
of developing small, tiny and cottage sector industries in the year 
a. May 1988  b. May 1978 c. May 1968 d. May 1948 
khtl;lj; njhopy; ikaq;fs; jpl;lk; rpwpa> kpfr; rpwpa> fpuhkj; njhopy; 
tsh;r;rp ngWk; Nehf;fj;Jld; Jtf;fg;gl;l Mz;L 
a. Nk 1988  b. Nk 1978  c. Nk 1968  d. Nk 1948 
 

24.  The curriculam of EDP includes 
a. Motivating entrepreneurs  b. Imparting managerial skills 
c. Taking for field visits   d. All of these 
njhopy; KidT Nkk;ghl;L jpl;lj;jpd; ghlj;jpl;lk; vij cs;slf;fpaJ 
a. njhopy;KidNthh;f;F nraYhf;fk; mspj;jy; 
b. Nkyhz;ik rhh;e;j jpwikfis fw;gpj;jy; 
c. fsj;ijg; ghh;itapl mioj;Jr; nry;Yjy; 
d. ,it midj;Jk; 
 

25.  Entrepreneurs who resist changes are called as ________ entrepreneurs. 
a. Deone   b. Fabian  c. Imitative  d. Innovative 
khWjy;fis kWf;Fk; njhopy; KidNthh; 
a. Nrhk;Ngwpj;jdkhd njhoy; KidNthh; 
b. fhyk; flj;Jf;fpd;w njhopy; KidNthh; 
c. khjphpahf gpd;gw;Wk; njhopy; KidNthh; 
d. GjpJ GidAk; njhopy; KidNthh; 
  

26.  In Shoe Manufacturing Industry, the most suitable method of costing is 
a. Process costing    b. Output costing 
c. Batch costing     d. Job costing 
fhyzp cw;gj;jp nra;Ak; njhopw;rhiyf;F cfe;j mlf;f fzf;fpay; 
Kiw 



 

 

a. gbKiw mlf;f fzf;fpay;   
b. ntspaPL mlf;f fzf;fpay; 
c. nfhs;ssT mlf;f fzf;fpay; Kiw 
d. gzpKiw mlf;f fzf;fpay; 
 

27.  Abnormal gain is a process occurs in which of the following situations? 
a. When costs are reduced through increased machine speed 
b. When actual losses are less than the normal loss level 
c. When actual losses are more than the normal loss level 
d. When the process output is more than planned 
xU gbKiwapy; mrhjhuz ,yhgk; vd;gJ ve;j #o;epiyapy; Vw;gLfpwJ 
a. ,ae;jpu Ntfk; mjpfhpg;ghy; Fiwe;j mlf;f nryTfs; 
b. Vw;fdNt jPh;khdpf;fg;gl;l rhjhuz el;lj;ijtpl cz;ikahd el;lk; 
c. Vw;fdNt jPh;khdpf;fg;gl;l rhjhuz el;lj;ijtpl cz;ikahd el;lk;   
mjpfkhf ,Ue;jhy; 
d. gbKiw ntspaPL Vw;fdNt jpl;lkpl;lijtpl mjpfkhf ,Ue;jhy; 
 

28.  Cost accounting differs from financial accounting in respect of 
a. Reporting of cost    b. Ascertaining cost 
c. Control of cost    d. Recording cost 
mlf;ftpiy fzf;fpay; epjpepiyf; fzf;fpypUe;J khWgLtJ 
vjpnyd;why; 
a. mlf;f nryT mwpf;if mspg;gjpy; 
b. mlf;f nryT fzf;fpLtjpy; 
c. mlf;f nryT fl;Lg;gLj;Jtjpy; 
d. mlf;f nryT gjpT nra;tjpy; 
 

29.  Which of the following comes under manufacturing overheads? 
a. Wages paid to indirect workers 
b. Travelling expenses of salesmen 
c. Salary of warehouse staff 
d. All the above are correct 
fPo;f;fhz;gtw;Ws; cw;gj;jp Nkw;nryTfs; vd;Dk; jiyg;gpy; ,lk; 
ngWtJ vJ? 
a. kiwKfg; gzpahsh;fSf;Ff; nfhLf;fg;gLk; $yp 
b. tpw;gidahsh;fSf;Ff; nfhLf;fg;gLk; gazr; nryTfs; 
c. gz;lfrhiy gzpahsh;fSf;Ff; nfhLf;fg;gLk; rk;gsk; 
d. Nkw;fz;l ahTk; rhpjhd; 
 



 

 

30.  Office telephone charges is an example of 
a. Fixed overheads    b. Variable overheads 
c. Semi-variable overheads   d. None of the above is correct 
mYtyfk; rhh;e;j njhiyNgrpr; nryTfs; vjw;F cjhuzk; MFk;? 
a. epiyj;j Nkw;nryTfs;    
b. khWk; Nkw;nryTfs; 
c. miuFiwahf khWk; Nkw;nryTfs; 
d. Nkw;fz;;l vJTk; rhpay;y 
 

31. Seed capital assistance helps the entrepreneur to meet 
a. Working capital     b. Fixed capital 
c. Risk capital     d. Preliminary expenses 
njhopy; KidNthh;f;F njhlf;f (tpij) %yjd mspg;gpd; gad;ghL 
a. eilKiw %yjdk;   b. epiy %yjdk; 
c. ,lh; %yjdk;    d. njhopy; njhlf;f Kjy; 
 

32. Venture capital is a form of 
a. Working capital  
b. Export financing 
c. Equity financing     
d. Financing for new technology, high risk projects 
Jzpfu %yjdkhdJ toq;fg;gLtjd; Nehf;fk; 
a. eilKiw %yjdk;    
b. Vw;Wkjp %yjdk; 
c. Neh;ik gq;F %yjdk;    
d. Gjpa fz;Lgpbg;Gfs; kw;Wk; ,lh; epiwe;j jpl;lq;fSf;fhd %yjdk; 
 

33. Transport subsidy to industrial units with in selected states is to the 
extent of  
a. 80% of transport cost   b. 75% of transport cost 

c. 133
3

% of transport cost   d. 50% of transport cost 

Fwpg;gpl;l khepyq;fSf;F kl;Lk; toq;fg;gLk; Nghf;Ftuj;J khdpak; ve;j 
msTf;F mspf;fg;gLk; 
a. Nghf;Ftuj;J nrytpy; 80%  b. Nghf;Ftuj;J nrytpy; 75% 

c. Nghf;Ftuj;J nrytpy; 133
3

%  d. Nghf;Ftuj;J nrytpy; 50% 

 
34. Project appraisal is done by 

a. Prospective entrepreneurs  b. Concerned state governments 



 

 

c. Financial institutions   d. All of the above 
jpl;lkpjpg;gply; nra;ag;gLfpwJ 
a. tUq;fhy njhopy; KidNthuhy; b. rk;ge;jg;gl;l khepy murhy; 
c. epjp epWtdq;fshy;    d. midtuhYk; 
 

35. Mahila Udayam Nidhi provides equity/seed assistance to women 
entrepreneurs for  
a. Rs. 10,00,000     b. Rs. 5,00,000 
c. Rs. 25,00,000     d. Rs. 15,00,000 
kfpoh cjak; epjp> jpl;lkjpg;gPL Rs.________ f;Fs; ,Uf;Fk; kfsph; 
njhopy; KidNthh;f;F <f;tpl;b/tpij %yjd cjtp toq;FfpwJ. 
a. Rs. 10,00,000     b. Rs. 5,00,000 
c. Rs. 25,00,000     d. Rs. 15,00,000 
 

36. Depreciation of plant based on efflux of time is 
a. Fixed overheads    b. Variable overheads 
c. Semi-variable overheads   d. None of the above is correct 
fhyf;foptpd; mbg;gilapy; jsthlq;fspd; kPjhd Nja;khdk; 
a. epiyj;j Nkw;nryTfs;    
b. khWk; Nkw;nryTfs; 
c. miuFiwahf khWk; Nkw;nryTfs; 
d. Nkw;fz;l vJTk; rhpay;y 
 

37. Find out the profit as per financial accounts from the following details 
and mark the correct answer. 
Profit as per cost accounts Rs. 3,44,800 , Over-recovery of office overheads 
in cost accounts Rs. 3,400 , Under-recovery of works overheads in cost 
accounts Rs. 6,240. 
a. Rs. 3,41,860     b. Rs. 3,41,960 
c. Rs. 3,40,860     d. Rs. 3,40,960 
fPo;f;fhZk; tpguq;fspd; mbg;gilapy; epjpfzf;fpay; yhgj;ijf; fz;L 
gpbj;J chpa tpiliaf; Fwpg;gpLf 
a. Rs. 3,41,860     b. Rs. 3,41,960 
c. Rs. 3,40,860     d. Rs. 3,40,960 
 

38. Canteen and medical expenses may be redistributed to various 
departments on the basis of  
a. Number of employees   b. Direct labour hours 



 

 

c. Hours worked    d. Value of materials purchased 
cztf kw;Wk; kUj;Jtr; nryTfis Jiwthhpahf kWgfph;T nra;Ak; 
NghJ ve;j mbg;giliag; gpd;gw;wyhk;? 
a. gzpahsh;fspd; vz;zpf;if  
b. Neub ciog;G kzpfs; 
c. Ntiy Ghpe;j kzpfs; 
d. nfhs;Kjy; nra;ag;gl;l %yg;nghUl;fspd; kjpg;G 
 

39. From the following details, find out the correct machine hour rate and 
mark the correct answer. 
Standing charges per hour Rs. 2.50 
Despreciation of machine per hour Rs. 5.00 
Repair charges, 50% of depreciation. 
The machine consumes 10 units of electric power per hour @ 40 paise per 
unit. 
a. Rs. 16.00  b. Rs. 15.00  c. Rs. 14.00  d. Rs. 17.00 
fPo;f;fhZk; tpguq;fspypUe;J rhpahd ve;jpu kzp tPjj;ij;f; fz;Lgpbj;J 
rhpahd tpiliaf; Fwpg;gpLf 
xU kzp Neuj;Jf;fhd epiyahd nryTfs; Rs. 2.50 
xU kzp Neuj;jpw;fhd ve;jpuj; Nja;khdk; Rs. 5.00 
kuhkj;Jr; nryTfs;> Nja;khdj;jpy; 50%    
xU kzp Neuj;jpy; ve;jpuk; gad;gLj;Jk; kpd;rhuk; 10 myFfs; 
xU myFfs; kpd;rhuf; fl;lzk; 40 igrh 
a. Rs. 16.00  b. Rs. 15.00  c. Rs. 14.00  d. Rs. 17.00 
 

40. The State Industries Promotion Council of Tamil Nadu Limited 
commenced its activities in  
a. 1971 as a Public Ltd. Company 
b. 1972 as a Public Corporation 
c. 1970 as a Private Ltd. Company 
d. 1974 as a Public Ltd. Corporation 
jkpo;ehL khepy njhopy; Kd;Ndw;w fofk; mjd; gzpfis Jtf;fpa 
Mz;L 
a. 1971y; nghJ epWkkhf   b. 1972y; nghJ fofkhf 
c. 1970y; jdp epWkkhf   d. 1974y; nghJ fofkhf 
 

41. The method of convenience sampling is also called as 
a. Judgement   b. Quota  c. Chunk  d. Auto method 
trjp $nwLg;G Kiwia ,g;gbAk; miof;fyhk; 



 

 

a. KbT       
b. xJf;fPL 
c. KOikj; njhFjpapy; xU rpwpa gFjp 
d. jhdpaq;fp Kiw 
 

42. The formula for Fisher‟s Ideal Index is 
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c. 01P L P       d. ,itahTk; ,y;iy 

 
43. Based on the following figures, which will be the value of “a”? 

N=8, Ey=526, 0x  , 616xy  , and 2 168x  . 

a. 66.75   b. 65.75  c. 3.667  d. 56.95 
fPNoAs;s tpguq;fspd; mbg;gilapy; “a” apDila kjpg;G vJthf 
,Uf;Fk;? 
N=8, Ey=526, 0x  , 616xy  , kw;Wk; 2 168x  . 

a. 66.75   b. 65.75  c. 3.667  d. 56.95  
 

44. Symmetrical distribution is 
a. Mean = Median = Mode   b. Mean>Median>Mode 
c. Mean<Median<Mode   d. None of the above 
rkr;rPh; guty; vd;gJ 
a. ruhrhp=,ilepiy=KfL   b. ruhrhp>,ilepiy>KfL 
c. ruhrhp<,ilepiy<KfL   d. ,tw;wpy; VJkpy;iy 
 

45. The policy of “anticipate no profit and provide for all possible losses” 
arises due to  
a. Conservation convention   b. Consistency convention 
c. Materiality convention   d. Disclosure convention 
yhgj;ij vjph;Nehf;fhky; midj;J e~;lq;fSf;Fk; xJf;fPL cUthf;Fk; 
kunghOF 
a. Kd;ndr;rphpf;if kunghOF  b. njhlh;r;rp kunghOF 
c. cz;ik czh;j;Jk; kunghOF d. KO ntspaPl;Lf; kunghOF 
 



 

 

46. Important functions of the statistics are 
a. It presents facts in a definite form and facilitates comparison 
b. It simplifies mass of figures and helps in prediction 
c. It helps in formulating and testing hypothesis 
d. All the above 
Gs;spapaypd; Kf;fpakhd gzpfshtd: 
a. ,J cz;ik tpguq;fis Fwpj;j tbtj;jpy; jUfpd;wJ kw;Wk; 
xg;gPl;bw;F cjTfpwJ 
b. ,J mjpf vz;fis RUf;fpj;jUfpwJ kw;Wk; Kd;fzpjYf;F 
cjTfpwJ 
c. ,J mDkhdq;fis cUthf;Fjy; kw;Wk; Nrhjid nra;jYf;F 
cjTfpwJ 
d. Nkw;$hpa midj;Jk; 
 

47. Qualitative observation of elementary units are called 
a. Variable   b. Attributes c. Hypothesis d. Sampling 
mbg;gil myFfis juj;jpd; mbg;gilapy; $h;e;J ftdpj;jy; vd;gJ 
,t;thW miof;fg;gLfpwJ 
a. khwp   b. gz;Gfs;  c. mDkhdk; d. khjphpKiw 
 

48. The limits of the population correlation are given by 
a. rP.E   b. r S.E  c. r 3 P.E  d. r 3 S.E 
KOikj; njhFjp xl;Lwtpd; vy;iy ngwg;gLk; top vd;gJ 
a. rP.E   b. r S.E  c. r 3 P.E  d. r 3 S.E 
 

49. When 0H is true, rejection of 0H  results in 

a. Correct decision    b. Type II error 
c. Type I error     d. Type III error 

0H  cz;ikahf ,Uf;Fk;nghOJ> 0H I kWg;gnjd;gJ 

a. rhpahd KbT    b. ,uz;lhtJ tifg;gpio 
c. Kjy; tifg;gpio    d. %d;whk; tifg;gpio 
  

50. The term regression was first used by Sir Francis Galton in 
a. 1677   b. 1877  c. 1777  d. 1977 
rh; gpuhd;rp]; fhy;ld; vd;gth; njhlh;GNghf;F vd;w gjj;jpid Kjypy; 
gad;gLj;jpa Mz;L 
a. 1677   b. 1877  c. 1777  d. 1977 
 



 

 

51. Bills were discounted to the extent Rs. 10,000 of which bills of Rs. 4,000 
are likely to be dishonoured.  Hence, the liability to rank in respect of 
these bills will be 
a. Rs. 10,000  b. Rs. 4000  c. 6,000  d. No liability 
U. 10>000 kjpg;Gs;s khw;Wr;rPl;L tq;fpapy; tl;l kplg;gl;lJ.  mjpy; U. 
4>000 kjpg;Gs;s khw;WrPl;L kWf;fg;gl;lJ.  ,jpy; ve;j njhiff;F 
nghWg;Gcs; 
a. Rs. 10,000  b. Rs. 4000  c. 6,000  d. No liability 
 

52. Under Assets Backing Method, the value of equity share is calculated 
under the presumption that the company would be 
a. Liquidated   
b. Continued  
c. Liquidated or continued 
d. None of the above 
epfu nrhj;J kjpg;G Kiwapy; rhjhuz gq;Ffspd; kjpg;G fzf;fpLk; 
nghOJ epWkk; ve;j epiyapy; ,Ug;gjhf fUj;jg;gLfpwJ? 
a. fiyf;fg;gl;ljhf     
b. njhlh;tjhf 
c. fiyf;fg;gl;l my;yJ njhlh;tjhf 
d. vitAkpy;iy 
 

53. For calculating the value of equity shares by intrinsic value method, it is 
essential to know 
a. Net assets     b. Expected rate of return 
c. Normal rate of return   d. Super profit 
rhjhuz gq;Ffspd; kjpg;ig cz;ikahd kjpg;G Kiwapy; fzf;fpl 
Kf;fpakhdJ vd fUjg;gLtJ 
a. epfu nrhj;Jf;fs;    b. vjph;g;ghh;f;fg;gLfpd;w ,yhgk; 
c. rhjhuz ,yhgk;    d. kpif ,yhgk; 
 

54. What is the expansion of BIFR? 
a. Bank of India Financial Report 
b. Board for Industrial and Financial Reconstruction 
c. Bank Investment and Factory Reconstruction 
d. Bombay Industrial and Financial Region 
BIFR- hpd; tphpthf;fk; vd;d? 
a.  ,e;jpa tq;fpapd; epjp mwpf;if 



 

 

b. njhopy; kw;Wk; epjpapay; kWrPuikg;G fofk; 
c. tq;fp KjyPL kw;Wk; njhopw;rhiy kWrPuikg;G 
d. ghk;Ng njhopw;rhiy kw;Wk; epjpapay; kz;lyk; 
 

55. In Industrial Policy Liberalization 1991, how much FDI equity shares are 
allowed in India? 
a. 24%   b. 51%  c. 49%  d. 90% 
1991-y; jhuhska khf;Fjypd; njhopw; nfhs;ifpapy; Neub me;epa 
KjyPl;by; (FDI) vt;tsT Neh;ik gq;Ffs; ,e;jpahtpy; 
mDkjpf;fg;gLfpwJ 
a. 24%   b. 51%  c. 49%  d. 90% 
 
 

56. According standard for Amalgamation is 
a. AS-8   b. AS-20  c.AS-14  d.AS-3 
epWk xUq;fpizg;gpw;fhd fzf;fpay; juk; vjpy; $wg;gl;Ls;sJ? 
a. AS-8   b. AS-20  c.AS-14  d.AS-3 
 

57. Under the scheme of absorption in the books of vendor company the 
balance in Employee‟s accident fund and compensation fund is 
transferred to ________ a/c. 
a. Creditors     b. Outstanding liabilities 
c. Shareholders     d. None of these 
<Hg;gikg;gpy; tpw;Fk; epWkj;jpd; njhopyhsh; tpgj;J epjp kl;Lk; el;l <l;L 
epjpapypUe;J ,Ug;G njhifia _________ fzf;fpw;F khw;w Ntz;Lk; 
a. fldPe;Njhh;     b. nfhLglNtz;ba nghWg;G 
c. gq;Fjhuh;fs;     d. vitAkpy;iy 
 

58. Under purchase method of accounting, the excess of purchase 
consideration paid to transfer company is debited to Goodwill account 
and normally this Goodwill a/c  should be written off within a period of 
a. 2 years   b. 8 years  c. 20 years  d. 5 years 
nfhs;Kjy; mbg;gilapy; fzf;Ffs; jahhpf;Fk; nghOJ> tpw;Fk; 
epWkj;jpw;F nrYj;jg;gl;l cghp kWgad; ew;ngah; fzf;fpy; gw;W 
itf;fg;gLk; nghJthf ,e;j ew;ngah; fzf;if vj;jid fhyj;jpw;Fs; 
vOjpf; fopf;f Ntz;Lk;? 
a.  2 Mz;Lfs;     b. 8 Mz;Lfs;  
c. 20 Mz;Lfs;     d. 5 Mz;Lfs; 



 

 

 
59. Assets are depreciated on the basis of expected life rather than on the 

basis of market value, according to the following 
a. Matching concept     b. Consistency convention 
c. Money measurement concept  d. Time period concept 
nrhj;Jf;fs; kPjhd Nja;khdkhdJ re;ijkjpg;gpy; my;yhky; mjd; 
vjph;g;ghh;f;Fk; tho;ehspd; mbg;gilapy; fzf;fplg;gLk; fUj;jpd; mbg;gil 
gpd;tUkhW 
a. nghUj;Jiff; fUj;J   b. njhlh;r;rp kuGf; nfhs;if 
c. gzkjpg;gPl;Lf; fUj;J   d. fzf;fpay; fhy fUj;J 
 

60. List „E‟ in statement of affairs gives the list of  
a. Assets specifically pledged  b. Assets not specifically pledged 
c. Unsecured creditors   d. Preference shareholders 
epWk fiyg;gpd; ml;ltizg; gl;baypy; List „E‟y; Nrh;f;fg;gl;l 
Ntz;bait 
a. gpizaj;jpw;F cl;gLj;jg;gl;l nrhj;Jf;fs; 
b. gpizaj;jpw;F cl;gLj;jg;glhj nrhj;Jf;fs; 
c. gpizak; my;yh fldPe;Njhh; 
d. Kd;dphpik gq;Fjhuh;fs; 
 

61. The international reserve asset created by the IMF as supplement to the 
existing reserve asset is 
a. Compensatory Financing  Facility b. Extended Fund Facility 
c. Buffer Stock Financing Facility  d. Special Drawing Right 
Vw;fdNt ,Uf;ff;$ba fhg;Gr; nrhj;Jld; $Ljyhf gd;dhl;L gz 
epjpaj;jhy; (IMF) cUthf;fg;gl;l gd;dhl;L fhg;Gr; nrhj;J vd;gJ 
a. <Lfl;Lk; epjpapay; trjp 
b. tphpthf;f epjp trjp 
c. epiyg;gLj;Jk; ruf;fpUg;G epjpapay; trjp 
d. rpwg;G vLg;G chpik 
 

62. GATT was converted into World Trade Organization (WTO) according to 
the agreement made by 
a. Uruguay Round    b. Tokyo Round 
c. Geneva Round    d. Annoy Round 
vq;F Vw;gLj;jg;gl;l xg;ge;jj;jpd; mbg;gilapy; GATT cyf tpahghu 
mikg;ghf (WTO) khw;wg;gl;lJ? 



 

 

a. cUFNt tl;lNkir   b. Nlhf;fpNah tl;lNkir 
c. n[dpth tl;lNkir   d. md;dha; tl;lNkir 
 

63. The carry forward system mainly used by the speculative brokers and 
large traders is known as 
a. Badla trade     b. Forward trade   
c. Book building    d. Insider trading 
Jzpr;ryhd jufh; kw;Wk; ngUk;ghyhd tzpfh;fs; gad;gLj;Jk; 
js;spg;NghLk; Kiwf;F 
a. gj;jyh th;j;jfk;    b. js;spNghLk; th;j;jfk; 
c. Gj;jf cUthf;fk;    d. cs;spUg;Nghh; th;j;jfk; 
 

64. The minimum size of a single (CD) and the minimum size of an issue to a 
single investor is  
a. Rs. 1 lakh and Rs. 5 lakh   b. Rs. 3 lakh and Rs. 25 lakh 
c. Rs. 5 lakh and Rs. 25 lakh   d. Rs. 10 lakh and Rs. 25 lakh 
xU itg;Gr;rhd;wpd; CD Fiwe;j gl;r kjpg;G kw;Wk; xU KjyPl;lhsUf;F 
ntspaplf;$ba Fiwe;j gl;r kjpg;gpd; msTk; 
a. Rs. 1 yl;rk; kw;Wk;  Rs. 5 yl;rk;  b. Rs. 3 yl;rk; kw;Wk; Rs. 25 yl;rk; 
c. Rs. 5 yl;rk; kw;Wk; Rs. 25 yl;rk;  d. Rs.10 yl;rk; kw;Wk; Rs. 25 yl;rk; 
  

65. At present, how many stock exchange are functioning in our country? 
a. 19   b. 21   c. 23   d. 24 
jw;NghJ ekJ ehl;by; ,aq;fp tUk; gq;F re;ijfspd; vz;zpf;if 
vt;tsT? 
a. 19   b. 21   c. 23   d. 24 
 

66. After globalization, initially most of the developing countries volume of 
exports exchange rates and earning were 
a. Increased  b. Decreased c. Constant  d. None of these 
cyf kakhf;FjYf;F gpwF> Muk;gj;jpy; ngUk;ghyhd tsUk; ehLfspy; 
Vw;Wkjp ehza khw;W tpfpjk; kw;Wk; rk;ghjpf;Fk; msT _______ 
,Ue;jJ. 
a. mjpfhpj;J     b. epiyahf  
c. Fiwe;J     d. vitAk; ,y;iy 
 

67. Change in the Exchange Rate is caused by 
a. Changes in prices    b. Changes in interest rates 



 

 

c. Changes in exports and imports d. All the above 
md;dpa nrythzp khw;W tpfpjj;jpy; khw;wk; Vw;glf;fhuzk; 
a. tpiyfspy; khw;wk;    b. tl;b tpfpjq;fspy; khw;wk; 
c. Vw;Wkjp> ,wf;Fkjpapy; khw;wk;  d. Nkw;fz;l midj;Jk; 
 

68. Asian Development Bank was set up in the year 
a. December 19, 1966    b. January 16, 1967 
c. February 18, 1968    d. March 20, 1969 
Mrpa tsh;r;rp tq;fp mikf;fg;gl;l tUlk; 
a. brk;gh; 19> 1966    b. [dthp 16> 1967 
c. gpg;uthp 18> 1968    d. khh;r; 20> 1969 
 

69. The Export and Import Bank was established on 
a. January 1, 1982    b. January 1, 1983 
c. January 1, 1984    d. January 1, 1985 
Vw;Wkjp ,wf;Fkjp njhlq;fg;gl;l ehs; 
a. [dthp 1> 1982    b. [dthp 1> 1983 
c. [dthp 1> 1984    d. [dthp 1> 1985 
 

70. The State Trading Corporation ensures 
a. Government participation in foreign trade 
b. Liaison with international agencies 
c. Development of Indian shipping 
d. B and C 
khepy tpahghuf; fofk; cWjpg;gLj;JtJ 
a. ntspehl;L thzpgj;jpy; murhq;fj;jpd; gq;Nfw;G 
b. gd;dhl;L KfikfSld; njhlh;G 
c. ,e;jpa fg;gy; Jiwia Kd;Ndw;Wjy; 
d. B kw;Wk; C 
 

71. The capital with which the company is registered is called 
a. Subscribed capital     b. Called up capital 
c. Authorised capital    d. Working capital 
gjpT nra;ag;gl;l %yjdk; vd;W miof;fg;gl;l %yjdk; 
a. tpz;zg;gpf;fg;gl;l %yjdk;  b. miof;fg;gl;l %yjdk; 
c. mq;fPfhpf;fg;gl;l %yjdk;  d. eilKiw %yjdk; 
 

72. Who is not empowered present petition for winding up by the court? 



 

 

a. Registar  b. Shareholders c. Creditor  d. Competitor 
ePjpkd;wf; fiyg;Gf; Nfhhp ePjpkd;wj;jpy; tpz;zg;gpf;ff; $ba chpik 
,y;yhjth; ahh;? 
a. gjpthsh;     b. gq;Fjhuh;fs; 
c. fldPe;Njhh;     d. Nghl;bahsh; 
 

73. A public company having a share capital can start its business on 
obtaining 
a. Approval of High Court    
b. Approval of Company Law Board 
c. Certificate of Commencement 
d. Certificate of Incorporation 
gq;F Kjy; nfhz;l xU nghJ epWkk; ve;j rhd;wpjo; ngw;wg;gpd; 
njhopiyj; njhlq;fyhk; 
a. cah;ePjp kd;wj;jpd; mq;fPfhuk;   
b. epWtdr; rl;l mikg;gpd; mq;fPfhuk; 
c.  njhopy; njhlf;fr; rhd;wpjo; 
d. cUthf;fr; rhd;wpjo;  
 

74. Table „A‟ of the Companies Act is a 
a. Model Minute Book    
b. Model Form of Balance Sheet 
c. Model of Articles of Association  
d. Model of Memorandum of Association 
fk;ngdpr; rl;lj;jpd; ml;ltiz „A‟ vd;gJ 
a. epfo;r;rpf; Fwpg;Ngl;bd; khjphp   
b. ,Ug;G epiyf; Fwpg;gpd; khjphp 
c. epWkr; nray;Kiw tpjpfspd; khjphp 
d. epWk mikg;G KiwNal;bd; khjphp 
 

75. Rs. 423 is written as Rs. 324 
a. Error of omission    b. Error of commission 
c. Error of principle    d. Error of compensation 
Rs. 423 vd;gjid  Rs. 324 vd vOjp tpLtJ 
a. tpl;lgpio     b. nra; gpio  
c. nfhs;ifg; gpio    d. <L fl;Lk; gpio 
 



 

 

76. Large companies are not permitted to the list their shares in OTCEI, if it 
has issued the share capital more than 
a. Rs. 5 crore  b. Rs. 15 crore c. Rs. 25 crore d. Rs. 20 crore 
OTCEI, epiyaj;jpy;> nghpa epWkq;fs; ve;j msT gq;F Kjiy 
ntspapl;bUe;jhy;> mq;F gl;baypy; Nrh;f;f mDkjpg;gjpy;iy 
a. Rs. 5 Nfhb  b. Rs. 15 Nfhb c. Rs. 25 Nfhb d. Rs. 20 Nfhb 
 
 

77. Which of the following is not a characteristic of a public company? 
a. Separate legal entity   b. Unlimitted liability 
c. Perpetual succession   d. Common seal 
fPo;fz;ltw;Ws; vJ nghJ epWtdj;jpd; rpwg;gpay;G ,y;iy? 
a. rl;l G+h;tkhd jdpj;j tho;T  b. tiuaWf;fg;glhj nghWg;G 
c. ePbj;j tho;T     d. nghJ Kj;jpiu  
 

78. A private company is deemed to be a public company under Sec. 43 (A) 
of the Companies Act when its annual turnover is 
a. 10 crores  b. 20 crores  c. 25 crores  d. 30 crores 
xU jdpepWtdk; vt;tsT Mz;L tpw;gid ,Ue;jhy; epWtdr; rl;lk; 
43(A) gphptpd;gb nghJ epWtdkhff; fUjg;gLk; 
a. 10 Nfhb   b. 20 Nfhb  c. 25 Nfhb  d. 30 Nfhb 
 
 

79. The filling of Articles of Association with Registrar of companies is 
compulsory for the  
a. Private company    b. Unlimited company 
c. Company limited by guarantee  d. All the above 
gjpthshplk; nray;Kiw tpjpfisg; gjpT nra;a Ntz;ba mtrpakhd 
epWtdk; 
a. jdp epWtdk; 
b. tiuaWf;fg;glhj epWtdk; 
c. cj;juthjj;jpd; %yk; tiuaWf;fg;gl;l epWtdk; 
d. Nkw;fz;l midj;Jk; 
 

80. A company must commence business within _______ of its incorporation. 
a. 3 months  b. One year  c. 6 months  d. 10 months 
xU epWtdk; cUthf;fr; rhd;wpjo; ngw;w NjjpapypUe;J __________Fs; 
njhopiyj; njhlq;f Ntz;Lk; 



 

 

a. 3 khjq;fs;  b. 1 Mz;L  c. 6 khjq;fs; d. 10 khjq;fs; 
 

81. External auditor should posses the qualification under which Section of 
the Companies Act, 1956 
a. Sec. 228   b. Sec. 224  c. Sec. 226  d. Sec. 222 
Gwj;jzpf;ifahsh; fk;ngdpr; rl;lk;> 1956 ,d; gb ve;j gphptpd; fPo;j; 
jFjp ngw;W ,Uf;f Ntz;Lk;? 
a. gphpT 228  b. gphpT 224 c. gphpT 226  d. gphpT 222 
 

82. Interim audit is conducted 
a. To issue of shares    b. To issue of debentures 
c.To declare dividend    d. To reconstruct the company 
,ilf;fhyj; jzpf;if elj;jg;gLtJ 
a. gq;Ffis ntspapLtjw;F   
b. fldPl;Lg; gj;jpuk; ntspapLtjw;F 
c. gq;fhjhak; ntspapLtjw;F 
d. fk;ngdpia kWrPuikg;G nra;tjw;F 
 

83. Identify the person who is not liable to pay wealth-tax, from the following 
a. Cooperative Society   b. Political Party 
c. Reserve Bank of India   d. All the above are not liable 
fPo;fhZk; egh;fSs; nry;tthp nrYj;j Ntz;ba nghWg;G ,y;yhjth; 
ahh;? 
a. $l;LwT rq;fk; 
b. murpay; fl;rp 
c. ,e;jpa hprh;t; tq;fp 
d. Nkw;fz;l midtUk; nghWg;G ,y;yhjth;fs; 
 

84. The Wealth Tax Act of India came into force on 
a. 1st April 1957  b. 1st April 1967 c. 1st April 1977 d. 1st April 1987 
,e;jpahtpd; nry;tthpr; rl;lk; ve;j ehspy; nray;ghl;Lf;F te;jJ 
a. 1957 Vg;uy; 1     b. 1967 Vg;uy; 1 
c. 1957 Vg;uy; 1     d. 1987 Vg;uy; 1 
 

85. Tax Planning 
a. is a legal right     
b. is a social responsibility 
c. help‟s to achieve social and economic objectives 



 

 

d. all the above are correct 
thpj; jpl;lkpLjy; vd;gJ 
a. xU rl;lg+h;tkhd chpik 
b. xU rKjhag; nghWg;G 
c. r%f kw;Wk; nghUshjhu Nehf;fq;fis mila cjTfpwJ 
d. Nkw;fz;l ahTk; rhpjhd; 
 

86. What are the important things to be kept in mind while preparing an 
audit programme? 
a. How much work is to be done? 
b. Who is going to do a particular portion of the work? 
c. What is the duration of time by which the work is to be completed? 
d. All the above 
jzpf;if epfo;r;rp epuy; jahh; nra;Ak; NghJ kdjpy; nfhs;s Ntz;ba 
tp~aq;fs; vit? 
a. vt;tsT Ntiyfisr; nra;a Ntz;Lk;? 
b. ve;nje;j Ntiyfis ahh; ahh; nra;a Ntz;Lk;? 
c. vt;tsT fhyk; vLj;Jf; nfhs;s Ntz;Lk;? 
d. Nkw;fz;l midj;Jk; 
 

87. Checking a few transaction selected at random from a large number of 
transaction by an auditor is known as 
a. Routine checking    b. Internal checking 
c. Test checking     d. Continuous checking 
jzpf;ifahsh; xt;nthU fzf;F Vl;bYk; mq;nfhd;Wk; ,q;nfhd;Wkhf 
rpy gjpTfisj; Njh;e;njLj;J ghpNrhjid nra;Ak; Kiw vd;gJ 
a. tof;fkhd ghpNrhjid   b. mfg; ghpNrhjid 
c. khjphpg; ghpNrhjid    d. njhlh;ghpNrhjid 
 

88. Which of the following is treated as capital expenditure? 
a. Depreciation to fixed assets  b. Repairs made to fixed assets 
c. Modernization to fixed assets  d. Loss on sale of fixed assets 
gpd;tUtdtw;Ws; vJ %yjdr; nrythff; fUjg;gLfpwJ? 
a. %yjdr; nrhj;Jfspd; Nja;khdk; 
b. %yjdr; nrhj;Jf;fisg; gOJ ghh;j;jy; 
c. %yjdr; nrhj;Jf;fis etPd kakhf;Fjy; 
d. %yjdr; nrhj;Jf;fis tpw;wjdhy; Vw;gl;l e~;lk; 
 

89. Which of the following is known as fictitious assets? 



 

 

a. Goodwill     b. Patent Right  
c. Copy Right     d. Preliminary expenses 
gpd;tUtdtw;Ws; vJ fw;gidr; nrhj;jhf mwpag;gLfpwJ? 
a. ed;kjpg;G     b. chpikf; fhg;G 
c. gjpg;Ghpik     d. njhlf;fr; nryTfs; 
 
 

90. Who is appointed as an auditor of a company? 
a. An officer of the company  b. Partner of the company 
c. Body corporate    d. None of the above 
fk;ngdpapd; jzpf;ifahsuhf epakpf;fg;gLgth; ahh;? 
a. fk;ngdpapd; mjpfhhp   b. fk;ngdpapd; $l;lhsp 
c. $l;L cU     d. Nkw;fz;lth; ahUkpy;iy 
 

91. The facility of credit card enjoyed by the agriculturists are called 
a. Debit Card  b. Green Card c. Smart Card d. Gold Card 
tptrhapfs; fld; trjp ngWk; ml;ilapd; ngah;: 
a. gw;W ml;il     b. gRik fld; ml;il 
c. fth;r;rpfu fld; ml;il   d. jq;ffld; ml;il 
 

92. Section 15 of Negotiable Instrument Act, 1881 deals with  
a. Bills of Exchange    b. Promissory Notes 
c. Cheque      d. Endorsement 
khw;WKiw Mtzr;rl;lk; 1881 gphpT 15 vijf; Fwpf;fpwJ 
a. khw;Wr;rPl;L     b. thf;FWjp rPl;L 
c. rhNrhiy     d.NknyhOjy; 
 

93. The following type of income in the hands of a local authority is 
exempted from tax as 
a. Incomes from House Property  b. Capital Gains 
c. Incomes from Other Sources  d. All the above are correct 
tUkhd thpr;rl;lg; gphpT 10 (20) d; gb cs;shl;rp eph;thfj;jpd; fPo;fhZk; 
tUkhd tiff;F thp tpyf;F mspf;fg;gLfpwJ 
a. tPl;Lr; nrhj;J tUkhdq;fs;  b. %yjd yhgq;fs; 
c. gpwtop tUkhdq;fs;   d. Nkw;fz;lahTk; rhpjhd; 
 

94.  Which of the following is not a fully taxable allowance? 
a. Dearness Allowance   b. City Compensatory Allowance 



 

 

c. House Rent Allowance   d. Fixed Medical Allowance 
fPo;f;fhz;gtw;Ws; KOikahd thp tpjpg;Gf;F cl;glhj gb vJ? 
a. mf tpiyg;gb    b. efu <l;Lg;gb 
c. tPl;L thlifg;gb    d. khWjyw;w kUj;Jtg;gb 
 

95. Interest free or concessional loan is 
a. taxable for all employee    
b. taxable for specified employee only 
c. exempted for all employees 
d. all the above are not correct 
tl;bapy;yhj my;yhj rYiff; fld; 
a. vy;yh gzpahsh;fSf;Fk; thptpjpg;Gf;FhpaJ 
b. Fwpg;gpl;l rpy gzpahsh;fSf;F kl;Lk; thptpjpg;Gf;FhpaJ 
c. vy;yh gzpahsh;fSf;Fk; thptpyf;F ngWtjw;FhpaJ 
d. Nkw;fz;l vJTk; rhpay;y 
 

96. When the total income of an employee is not more than _______he is not 
required to furnish the return of income for the A.Y. 2012-2013. 
a. Rs. 3 lakhs  b. Rs. 2 lakhs c. Rs. 1 lakh d. Rs. 5 lakhs 
xU gzpahshpd; nkhj;j tUkhdk; __________ f;F kpfhky; 
,Uf;Fk;NghJ> mth; 2012-2013 thp tjpg;G Mz;Lf;fhd tUkhdthp 
mwpf;ifiaj; jhf;fy; nra;a Ntz;ba mtrpakpy;iy 
a. Rs. 3 yl;rq;fs; b. Rs. 2 yl;rq;fs; c. Rs. 1 yl;rq;fs; d. Rs. 5 yl;rq;fs; 
 

97. If the escaped income is less than Rs. 1,00,000 , the time limit for issuing 
notice under Section 148 shall be  
a. upto 4 years from the end of the relevant assessment year 
b. beyond 4 years but upto 6 years from the end of relevant assessment 
year 
c. beyond 4 years but upto 16 years from the end of relevant assessment 
year 
d. All the above are not correct 
jtph;f;fg;gl;l tUkhdk; xU yl;rUgha;f;Ff; Fiwthf ,Uf;Fk; NghJ> 
gphpT 148d; gb mwptpg;G ntspapLtjw;fhd fhytiu vJ? 
a. njhlh;Gila thptpjpg;ghz;bd; ,WjpapypUe;J 4 Mz;Lf;Fs;shf 
b. njhlh;Gila thptpjpg;ghz;bd; ,WjpapypUe;J 4 Mz;Lf;Ff;gpd; 6 
Mz;Lf;Fs;shf 



 

 

c. njhlh;Gila thptpjpg;ghz;bd; ,WjpapypUe;J 4 Mz;Lf;Fg;gpd; 16 
Mz;Lf;Fs;shf 
d. Nkw;fz;l vJTk; rhpay;y 
 

98. In e-Banking PIN stands for 
a. Personal Information Number  b. Private Index Number 
c. Personal Identification Number d. Personal Information Numeric 
 
,-tq;fpapy; PIN vd;w nrhy; vijf; Fwpf;fpwJ? 
a. jdpegh;jfty; vz;    b. jdpahh; FwpaPl;L vz; 
c. jdpegh; milahs;vz;   d. jdpegh; jfty; fzpj vz; 
 

99. Credit Cards cannot be used for 
a. payment for purchase at specified merchant establishment 
b. cash withdrawal from ATM of the card issuing bank 
c. raising loan from the bank 
d. none of the above 
fld; ml;il fPo; fz;ltw;wpy; vjw;F gad;gLj;j ,ayhJ 
a. Fwpg;gpl;l tpahghu epWtdq;fspy; nfhs;Kjy; nra;jjw;fhd 
nrYj;Jif 
b. jhdpaq;fp ,ae;jpuk; %yk; nuhf;fk; vLj;jy; 
c. tq;fpapy; fld; Vw;gLj;j 
d. Nkw;fz;litfspy; vJTk; ,y;iy 
 

100. UTI setup in the year 
a. 1956   b. 1964  c. 1951  d. 1971 
,e;jpa nghWg;Ghpik fofk; ve;j Mz;L epWtg;gl;lJ 
a. 1956   b. 1964  c. 1951  d. 1971 
 

101. Cash from operations is equal to 
a. Net profit plus increase in outstanding expenses 
b. Net profit plus increase in debtors 
c. Net profit plus increase in stock 
d. Net profit plus cash 
nraw;ghl;L nuhf;fk; vjDld; rkkhdJ 
a. epfu ,yhgk; kw;Wk; nfhLgl Ntz;ba nrytpdj;jpd; mjpfg;gbahd 
njhif 
b. epfu ,yhgk; kw;Wk; fldhspfs; mjpfg;gbahd njhif 



 

 

c. epfu ,yhgk; kw;Wk; ruf;fpd; mjpfg;gbahd njhif 
d. epfu ,yhgk; kw;Wk; nuhf;fk;  
 

102. The important objectives of marginal costing are 
a. Pricing policy    b. Profit planning 
c. Cost control     d. All of these 
,Wjpepiy nrytpd; Kf;fpakhd Nehf;fq;fs; 
a. tpiyf;nfhs;if    b. ,yhgj;ij jpl;lkpLjy; 
c. mlf;ff; fl;LghL    d. ,it midj;Jk; 
 
 

103. A flexible budget is 
a. Budget for different capacity levels 
b. Budget for different departments 
c. Budget for receipts and payments 
d. None of these 
nefpo;T tuT nryT jpl;lk; vd;gJ 
a. gy;NtW cw;gj;jp epiyfSf;fhd tuT nryT jpl;lk; 
b. gy;NtW JiwfSf;fhd tuT nryT jpl;lk; 
c. nrYj;Jjy;fs; kw;Wk; ngWjYf;fhd tuT nryT jpl;lk; 
d. ,itahTk; ,y;iy 
 

104. Time value of money is considered in 
a. Pay-back period method   b. ARR on original investment 
c. ARR on average investment  d. Discounted cash flow method 
fhy mbgilapyhd kjp;g;ig fUj;jpy; nfhs;tJ 
a. KjyPl;L jpUk;g ngWk; fhy msT 
b. cz;ik KjyPl;bd; mbg;gilapyhd fzf;fPl;L <L tpfpjk; 
c. ruhrhp KjyPl;bd; mbg;gilapyhd fzf;fPl;L <L tpfpjk; 
d. tl;lk; nra;ag;gl;l nuhf;f xl;lKiw 
 

105. Investment value is Rs. 40,00,000.  Total earnings Rs. 12,00,000 per 
annum. Depreciation is Rs. 2,00,000 per annum.  Tax is Rs. 2,00,000 per 
annum. Compute ARR on original investment value. 
a. 20%   b. 30%  c. 25%  d. 40% 
KjyPl;L kjpg;G Rs. 40>00>000. nkhj;j Mz;L tUkhdk; Rs. 12>00>000. 
Mz;L Nja;khdk; Rs. 2>00>000. Mz;L thp Rs. 2>00>000 cz;ik KjyPl;L 
mbg;gilahd fzf;F <l;L tpfpjk; fz;Lgpb. 



 

 

a. 20%   b. 30%  c. 25%  d. 40% 
 

106. Mr. Raman had taken a shop on rent at a monthly rate of Rs. 2,000.  
He sublet 25% of the area to Mr. Dasarathan at Rs. 1,000 p.m.  He incurred 
Rs. 4,000 on repairs of the shop.  Find out his income from subletting and 
mark the correct answer. 
a. Rs. 12,000  b. Rs. 6,000  c. Rs. 1,000  d. Rs. 5,000 
jpU. uhkd; xU filia Rs. 2000 tPjk; khj thliff;F vLj;jpUe;jhh;.  
mjd; 25% gFjpia jpU. jrujd; vd;gtUf;F khj thlif Rs. 1000 vd 
eph;zapj;J cs; thliff;F tpl;bUe;jhh;.  me;j filapd; 
gOJghh;g;Gf;fhf Rs. 4000 nryT nra;jhh;. mtUila cs;thlif 
tUkhdj;ijf; fzf;fpl;L rhpahd tpiliaf; Fwpg;gpLf 
a. Rs. 12,000  b. Rs. 6,000  c. Rs. 1,000  d. Rs. 5,000 
 

107. Compute the qualifying amount U/S 80 C, of Mr. X, if his monthly 
salary is Rs. 80,000 and he pays a life insurance premium of Rs. 20,000 
and Rs. 30,000 on his life and his parents life respectively. 
a. Rs. 20,000  b. Rs. 30,000 c. Rs. 50,000 d. Rs. 60,000 
jpU. X-d; khjhe;jpu rk;gsk; Rs. 80>000 kw;Wk; mth;> mtUila MAs; 
fhg;gPl;bw;Fk; mthpd; ngw;Nwhhpd; MAs; fhg;gPl;bw;Fk; Kidkhf Kiwia 
Rs. 20>000 kw;Wk; Rs. 30>000 nrYj;jpdhy;> gphpT 80C d; fPo; jFjpahd 
fopTr; njhifapid fzf;fPL 
a. Rs. 20,000  b. Rs. 30,000 c. Rs. 50,000 d. Rs. 60,000 
 

108. In an industry using process costing, number of units introduced 
1000 or Rs. 10,000.  Percentage of normal loss 10%.  What would be the 
cost per unit of output? 
a. Rs. 10   b. Rs. 12  c. Rs. 16  d. Rs. 11.11 
gbepiy fzf;fpaiy gpd;gw;wk; Xh; njhopw; rhiyapy; U. 10>000 
kjpg;Gs;s 1000 myFfs; cl;nrYj;jg;gl;ld.  Rhjhuz el;l tpfpjk; 10% 
vdpy;> ntsptUk; xU myfpd; mlf;ftpiy vd;dthf ,Uf;Fk;? 
a. Rs. 10   b. Rs. 12  c. Rs. 16  d. Rs. 11.11 
 

109. In contract costing, materials stolen are 
a. Credited to the respective contract account 
b. Debited to the respective contract account 
c. Debited to costing profit and loss account 
d. Not at all considered 



 

 

xg;ge;j fzf;fpaypd;> jpUlg;gl;l nghUl;fs; 
a. rk;ge;jg;gl;l xg;ge;j fzf;fpy; tuT itf;fg;gLk; 
b. rk;ge;jg;gl;l xg;ge;j fzf;fpy; gw;W itf;fg;gLk; 
c. mlf;ftpiy fzf;fpaypd; ,yhgel;l fzf;fpy; gw;W itf;fg;gLk; 
d. fzf;fpy; vLj;Jf; nfhs;sg;gl khl;lhJ 
 

110. The term Management Accounting was first used in 
a. 1910   b. 1939  c. 1950  d. 1956 
Kjd; Kjyhf Nkyhz;ik fzf;fpay; vd;w nrhy; cgNahfpj;jJ 
a. 1910   b. 1939  c. 1950  d. 1956 
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